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G1301-G1306 G1331-G1336 - G1362  
   



 
 65 1-40 1.25 50 41-65 2 50

2B  
  
 ( )

10
 



1-40 1.25 40 50  
1 1. SI   

 cd   J   N   °C  

3 2. 40 kg 60 5

2 10

2  
 

 1  

 1  

 2.5  

 10  

 

 

 

2 3. 4 53 25

3 (sin53
5

4 sin37
5

3 ) 

 12  

 15  

 20  

 25  

 

 

 

 

4 4. 4 40

4 2.5
2

g 10 m s
2

 

 0.50  0.60  0.67    0.75 

3 5. 5 1 A B B C
0.2 0.1 8 N F B A B C

  

 A     A     

 C     B C  

4 6. 6 W W
N N G G

 

 W W    N W   

 N N    G W  

1 7. 850 340  

 0.4  0.5  0.6  0.8 

3 8. 8   

 a   

 a b  

 c   
 a c  

 

3 9.  

        

1 10.   

   x-   γ-    

4 11. v1 A1

v2 A2  

 v1 v2 A1 A2  

 v1≥v2 A1 A2  

 v1 v2 A1≥A2  

 v1 v2 A1≥A2 

 

 

 

 

1 12. S f O v v A AS S

12  

 f   f   f   f 

4 13. 37 1 13

(sin53
5

4 sin37
5

3 ) 

 
4

5   
3

5   
3

2
   

3

4  

4 14. 14 λ

2 
6


 

 0.5λ  λ  2λ  4λ  

2 15. A B Q 2Q 3r A B A FA

B FB FA FB   

 2 1    1 1    1 2     3 2 

1 16. Q R P E V 3R x

E2 V2 (E2 V2)                     

 (
9

E

3

V )  (
3

E

9

V
)  (9E 3V)    (3E 9V) 

2 17. 17 a +2Q Q Q

 

 

25kQ

a
   

 

23kQ

a
    

 

23kQ

a
   

 
a

kQ2

 

1 18. A B

18 L AB PA PB  

 1 1   2 1   3 1   3 2 

4 19. 19 AB K C  

 C   C    

 C     C  

1 20. 500 100 60 Hz 100

 

 60 Hz 20   60 Hz 500   12 Hz 20   300  

3 21.  

        

2 22.  

        

3 23. H2O CO2 a b CH4 c CH4  

 a+bc  a+2bc  2a+bc  c2ab 

4 24.  

   NO2  

 SO3   CO  

3 25. 25 2 atm 2 1 4 2 atm atm  

 1  2  4  8 

2                          

 

            

5                          

 

            

6                          

 

 

            

12                          

 

            

14                          

 

            

17                          

 

            

18                          

 

            

8                          

 

            

19                          

 

            

3                          

  

13                          

    

4                          

 

            

40  



3 26.  

 (Boyle’s law)  (Raoult’s law)  (Henry’s law)  (Dalton’s law) 

3 27. 10 NaOH 40 250 mL M  

 0.25 M  0.5 M  1.0 M  2.0 M 

4 28. A 1s
2
2s

2
2p

6
3s

2
3p

1
  B 1s

2
2s

2
2p

5
 

 AB  AB2  A2B  AB3 

3 29. Na Mg Al  

 Na>Mg>Al  Mg>Na>Al  Mg>Al>Na  Na>Al>Mg 

1 30.
35
17 X  

 F19
9   Ne20

10   Si28
14   Mg24

12  

4 31. 24Cr  

 3  4  5  6 

3 32.  

        

2 33. 10 kcal 25 kcal 5 kcal

(ΔH) kcal  

 -10  -15  -20  +15 

4 34.  

 2 M 1 CH3COOH 1 M 1 CH3COONa  1 M 1 CH3COOH 2 M 1 CH3COONa  

 2 M 1 CH3COONa 1 M 1 HCl   1 M 1 CH3COOH 2 M 1 NaOH  

1 35. 3.0 0.10 M NaOH 25 mL

CH3COOH(%)  

 5%  10%  15%  20% 

4 36.   

        

2 37.  

 F2<Cl2<Br2<I2  F2<Cl2<Br2<I2  F>Cl>Br>I  F2>Cl2>Br2>I2 

4 38. α β γ  

 γ β α   γ β α  

 α β γ  α β γ 

4 39. " "  

        

3 40. (Fehling’s solution)  

        
 

41-65 2 25 50  
3 41. 2.0 eV 400 nm

eV eV nm


1240  eV  

 0.2  0.5  1.1  2.1 

2 42. 42 6 100 kg 60 kg

40 kg  

 0.36  

 0.60  

 1.20  

 1.50 

 

 

4 43. m R
3

mg
g

 

 
g
R   

g
R2    

g
R

3
22   

g
R32  

2 44. 4 kg 5 m/s 44 O A

O LA OA 3 m OAB 53   LA kg-m
2
/s (sin53

o

5

4 sin37
o

5

3 )   

 60   48  36  20 

4 45. 430 344

L   

 80 L 85   20 L 80   85 L 100   105 L 135  

1 46. 0.70 570 342 4.7

 

 5.0  5.3  5.5  5.7 

3 47. d

45° 30° 0°   

 d
2

2   d)12(    d)13(    d3  

1 48. 2 m 2 m m R R 2 R

48 ω   

 ω ω ω 1 1 2   

 v v v 1 1 2  

 F F F 1 1 1   

  

 

 

 

3 49.

 

        

4 50. 1kg 4kg 50 20

2 1kg

4 4kg   

 16   12   10   9  

2 51. 200 0 x 100 64

80 540  

 200   250   300   360 

3 52. 52 A B A

53 B 37 A B  

(sin53
o

5

4 sin37
5

3 )   

 4 3     3 4  

 16 9     1 1   

 

 

4 53. 80% 20% 1 (STP) 1.34 (C=12 H=1) 

 CH3  CH4  C2H4  C2H6 

4 54. M
3+

a b  

 a+b+3  a+b-3  a-b+3  a-b-3 

2 55. 4.4 CO2 2.7 H2O

C 12 O 16 H 1  

        

2 56.  

 BOD COD  BOD COD 

 COD K2Cr2O7  BOD COD mg/L 

2 57.  

 CH4  SF4  NH

4   SO

2
4  

4 58. AgCl 10
-5 

M AgCl 0.1 M NaCl M  

 10
-4 

 10
-6 

 10
-8 

 10
-9

 

4 59. 0.1 M pH  

 NaHSO4  NH4Cl  Na2SO4  Na2HPO4 

1 60.  

 [H
+
]  pH     Ka 

1 61.  

        

2 62. K3[Fe(CN)6]   

 d
2
sp

3 
 9 

    Fe +3 

1 63. CaCO3(s) CaO(s) CO2(g)  H>0 CO2 .

. . CO2 
        

4 64. Cr2O
2

7  C2H5OH  H
+
→ Cr

3+
 CH3CHO  H2O  

 C2H5OH    Cr2O
2

7  

    H2O 7 

4 65. a - b - c -2- d -2-  

 b>a  d>c  a>b  c>d 
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52                          
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